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IHE AER IRA (B A) X iH%E
1—1 [fEAZ 2,909,000 Bintk . REMIBTE
1—2 [{EAE 5,000,000 BEntk . RERMIBTE
1—3 |fEAE 3,000,000 20134558 &Y iR :ERALA
1—4 [ZFGE 7,910,276 [CpAEELY
1—5 [fEAZE 1,600,000 10A9H

1—6 [fEAZ 600,000 108108

1-7 |{EASE 1,000,000 108108

1—8 |fBEAE 200,000 10A11H

1—9 [fEAZ 100,000 108118
1—10|fEAE 100,000 108118

1—11|2F & (= HEFRIBIT) 109,000 WS A REREEQ013F7H7108)
2—1 |Lih-EYHrRS (ES) 8,000,000 ;;g%f%&%%?‘ggoggm
2—2 |tH-BYHRE (HED) 150,000|5 8208

2—3 |tH#- B2 (HEIQ) 150,000(6 5208

2—4 |ti-BYHRE (HEQ) 150,000{7 8208

2—5 |ti-BYHKE (HED) 150,000(8 B20H

2—6 |Tith-EYMHKE (HEO) 150,000{9 5208

2—7 |- BYHKE (HEIO®) 150,000{108 108

2—8 |tih-BYRE(HED) 150,000{11 A58

2—-8 [BEAELEREFE(N -3 D) 26,281(5 8

2—9 [fEAERE(1—3 Q) 26,281|6 A
2—10|EALRF(1—-3 Q) 26,281|7H
2—11|fEAELRE(1—-3 @) 26,281|8 8
2—11|fEAERE(1—-3®) 26,281|9H
2—12|{EALREF(1—-3®) 26,281|10H
2—13|fEAELREZ(1—-3 D) 26,281(11 8

3—1 |/MNEEFER L& 172,900(3 8228

3—2 |EN#K 25,000( 7

3—3 |fF#HEFET L EED 69,255(4 828

3—4 |FN#R 30,000( #

4—1 |VI7A—LRKE(RFTIHEEAN) 1,050,000(3822H

4-—2 |n 500,000(4 5 25H

4—3 |n 300,000/589H

4—4 |1 150,000|/5H15H

4—5 |u 1,260,000(5 5 30H

4—6 |n 250,000|6 B 17H

4—7 |u 600,000(6 H21H

4—8 |n 2,000,000|6 5278

4—9 |n 1,200,000(6 5 28H

4—10|n 450,000{7 838

4—11|n 285,000|7 8 12H

4—12|n 920,000|7 B30H
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4—13|n 300,000|18H15H (R&EEME)
4—14]|n 200,000(8 A28H (K&EEME)
4—15|n 500,000|9 B5H

4—16|n 80,000[9H17H (MEEME)
4—17|n 28,000(9H 288 (IO EME)
4—18|n 400,000{10 A 1B (R EEHERA~ED)
4—19]|n 1,600,000|{10 A 108 (B EEH kA~ E)

22,528,276| 21,604,122
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IHE LER pgan ik
1AZZE (R)IEE) 108,000
2|t B (K1 2) 128,000

W TA— LRETE

| m, s
4| B35 T % (BRKB) 390,000
5|ZENIE(FIR=Y) 645,000
6|EREEIE (FHRE) 1,490,000
7RIS (FHERS) 275,000
8|l1=vhN\R-FELE 375,000
9|T7ar3E 159,000
10[kEma28 64,000
NM|EXRERBIENEER) 352,000
12(Etvr5E 235,000
13| SV ERER4E (R FTEEER) 285,000
14|5%0% T = (STl is) 100,000
15|52+ 357,000
16(fEEAZRE 67,000
17| EXREYLE(KNIYAIIL) 60,000
18|BEREMIENEER) 415,000
19[a2 9 )—MTE UNREAIL) 490,000
20| /K& 5% % (TThE 3% ) 150,000
21|VBRERY (BRI YY) 880,000
8,425,000

2/2




